
 

𝑣(𝑥) = 900 − 50𝑥

𝑣(𝑥) 𝑥

𝑣(𝑥) = 400

400 = 900 − 50𝑥 ⇔ 400 − 900 = −50𝑥 ⇔ −500 = −50𝑥 ⇔ 

50𝑥 = 500 ⇔ 𝑥 =
500

50
= 10

 𝐶

𝑓(𝑥) 𝐶

𝑔 ℎ

𝑥 𝑔(𝑥) 𝐵

ℎ(𝑥) 𝐴

 𝑦

𝑦′ = 3𝑥2 + 2 +
1

𝑥

𝑦 𝑦′ 𝑑𝑦/𝑑𝑥

𝑥 · (3𝑥2 + 2 +
1

𝑥
) = 𝑥3 + 2𝑥 + ln(𝑥) − ln(𝑥) + 1 

⇒ 3𝑥3 + 2𝑥 + 1 ≠ 𝑥3 + 2𝑥 + 1

𝑦 3.



 𝑓(𝑥) 𝐹(𝑥)

𝐹(𝑥) = ∫ 𝑓(𝑥) 𝑑𝑥 = ∫(8𝑥3 − 3𝑥2 + 4) = 2𝑥4 − 𝑥3 + 4𝑥 + 𝑘

𝑃(1; 5) 𝑘

5 = 2 · 14 − 13 + 4 · 1 + 𝑘 ⇔ 5 + 𝑘 = 5 ⇔ 𝑘 = 0

𝐹(𝑥) = 2𝑥4 − 𝑥3 + 4𝑥

 

(0; 0) (0; 9) (2; 7) (4; 3) (5; 0) (2; 7)

(4; 3)

𝑓(2; 7) = 3 · 2 + 2 · 7 = 6 + 14 = 20 

𝑓(4; 3) = 3 · 4 + 2 · 3 = 12 + 6 = 18

20



 𝑡𝑟𝑎𝑣𝑒𝑙

 

𝑝 5%



 

0.214%

 𝑏𝑖𝑙𝑓𝑒𝑟𝑖𝑒

𝑦 𝑥



 

 

𝑦 = 9.0117𝑥 + 5365.56958



 

[3.7354; 14.288]

 

 

2000000 = 𝑥 −
0.5

100
· 𝑥 −

1.5

100
· 𝑥 − 5000 ⇔ 

2000000 = 0.98𝑥 − 5000 ⇔ 

2005000 = 0.98𝑥 ⇔ 

𝑥 =
2005000

0.98
= 2045918.37

https://www.geogebra.org/m/nKJpKryR


 

𝑦 = 2045918.37 ·

0.5
100

1 − (1 +
0.5
100)

−120 = 22713.888

 

𝑟 = ((1 + 0.005)4 − 1) = 0.02015 = 2.015%

 

 



 

 

𝑆 0

𝑆 0
𝑑−𝑏

𝑎−𝑐
𝑎 − 𝑐

𝑎 − 𝑐

2 𝑇

 𝑃𝐷(𝑥) 𝑏 = 24000

𝑃𝑆(𝑥) 𝑑 = 12000

𝑇 =
1

2
· (24000 − 12000) =

12000

2
= 6000

𝑆(6000) = (
1

−0.5 − 0.25
) 60002 + (

12000 − 24000

−0.5 − 0.25
) · 6000 = 48 000 000



 

 𝑅(𝑥) = 20

 



 

 

𝑟(𝑥) = −50𝑥 + 10000, 0 ≤ 𝑥 ≤ 200 

𝑏(𝑦) = 8000, 𝑦 ≥ 0 

𝐶(𝑥, 𝑦) = 2000𝑥 + 2000𝑦 + 500000

𝑃(𝑥, 𝑦) = 𝑥 · (−50𝑥 + 10000) + 𝑦 · (8000) − (2000𝑥 + 2000𝑦 + 500000) 

              = −50𝑥2 + 10000𝑥 + 8000𝑦 − 2000𝑥 − 2000𝑦 − 500000 

              = −50𝑥2 + 8000𝑥 + 6000𝑦 − 500000

 𝑦 ≤ 100 𝑃(𝑥, 𝑦) 𝑃(𝑥, 100)

𝑓(𝑥)

𝑓(𝑥) = −50𝑥2 + 8000𝑥 + 6000 · 100 − 500000 

          = −50𝑥2 + 8000𝑥 + 100000

𝑓′(𝑥) = 0

−100𝑥 + 8000 = 0

⇕
𝑥 = 80

80 100


